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   Fast Fashion t-shirt challenge
[image: ]

image1.jpg
Every year, global emissions from
textile production are equivalent to 1.2
billion tonnes of €02, a figure that
outweighs the carbon footprint of
international flights and shipping
combined.

“The clothing industry is the second-
largest global polluter after oi
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It takes around 2700 litres of water to make a single t-shirt. Although cotton has a
lower carbon footprint, cotton production requires significantly more land and water
than synthetic fabrics.

The proportion of synthetic fibres, such as polyester, in our garments has
doubled since 2000 rising to 60% in 2019. These fibres are produced from oil.
One polyester shirt has a 5.5kg carbon footprint, compared to just 2.1kg for
a cotton shirt.

The average garment worker in Bangladesh is paid £51 per month. Bangladesh is the
world's largest garment producer. The 'living wage' for Bangladesh should be £200 per
month.

It's estimated that just one container ship, the length of around six football pitches,
can produce the same amount of pollution as 50 million cars.

The UK is the epicentre of fast fashion in Europe, with each person buying
around 26.7kg of clothing every year (compared to an average 15.6kg in EU
countries).

700000 fibres are released in a single domestic wash. Washing our clothes less
frequently lowers their carbon footprint and extends their life.

Extending the life of clothing by an extra nine months of active use, instead of buying
more clothes, would reduce carbon, waste and water footprints by around 20-30%
each and cut resource costs by 20%

In the UK alone it is estimated that £140 million of clothes are sent to landfill or
incinerated each year.
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